112
12845]
76
11930]
ot ) |
36 EARTH mﬁ
[914] m:
| concreTe 1=
|[=
3 1T
76 3
76/ 9
1228
DETAIL B
SCALE 1:10
'L%'\_" PART NUMBER MATERIAL QTY.
1 BOARD CUT-72 72" X 5/8" X 2.75" WOOD PICKETS | 4
2 BOARD FULL-72 72" X 5/8" X 5.5" 46
v an ) 6005A ALUMINUM 1/8" WALL.
3 POST =3"X 3" X 112"L POWDER COATED BLACK 3
410 STAINLESS STEEL SELF DRILLING SCREW, #10
4 | "X '5/8" PAN HEAD WITH #2 PHILLIPS DRIVE HEAD 410 STAINLESS STEEL 16
410 STAINLESS STEEL COATED BLACK, 5/16" X
5 1.75" SQUARE NECK CARRIAGE BOLT 410 STAINLESS STEEL 8
410 STAINLESS STEEL WOOD SCREW COATED
6 BLACK MAGNI, #8 X 3/4" PAN HEAD WITH #2 410 STAINLESS STEEL 212
PHILLIPS DRIVE
ALUMINUM 1/8" WALL, POWDER
7 V-BRACKET COATED BLACK 8
Ny v n 6061 ALUMINUM 1/8" WALL,
8 VERTICAL STRINGER-92" X 3" X 1.5 O N 178 VAL 4
9 HEXAGON FLANGE NUT ISO - 4161 - M8 - N 8

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TAHOE SLIPFENCE. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL +

ANGULAR: MACHt  BEND +
TWO PLACE DECIMAL  +
THREE PLACE DECIMAL =

NAME DATE

SLIPFENCE

DRAWN

TRASER
DESIGN INC.

Tahoe Products Group Inc.
Oakville, ON
Phone: 1-866-336-2340
VWWV.SLIPFENCE.COM

CHECKED

ENG APPR.

MFG APPR.

MATERIAL

QA.

NEXT ASSY | USED ON

FINISH

APPLICATION

DO NOT SCALE DRAWING

COMMENTS:

SIZE

A TSP 4FT-RES-VERT-SPEC

REV.

SCALE:1:50 |WEIGHT:

[steer 10F 1




112.0
12845

AN
A0
3.0 125

AJ 3

3.0
76

SECTION A-A
SCALE1:2

Tahoe-Products p-lnc.

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TAHOE SLIPFENCE. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

NAME DATE Oakville, ON
DIMENSIONS ARE IN INCHES n 'c 3 Phone: 1-866-336-2340
TOLERANCES: DRAWN Dggl‘é?flﬁc. SL|pFE E VW\‘;\;‘:SLIF‘FENCE.COM
FRACTIONAL £
ANGULAR: MACH+  BEND + | CHECKED
TWO PLACE DECIMAL  + ENG APPR.
THREE PLACE DECIMAL + PG APPR, 3' ! V E RT'CA L POST
MATERIAL QA.
6005A ALUMINUM 1/8" WALL, [ GomMENTs:
POWDER COATED BLACK
NEXT ASSY | USED ON | FINISH 2604 SUPER DURABLE SIZE | DWG. NO. REV
A TSF-6FT-RES-VERT-SPEC |
APPLICATION RO NOTSCALE DRAWING SCALE:IB2 | WEIGHT: [sheeT 2 OF 11




92.0 o
12337

48
2.46 121

63

3.00

76— T

117

30, 35

35 0 19 g6
9]  [22]

O

0 i 4.74
M [121]
1.97 |
] ]
[50] T [
5.94 - \
(151 - | 1.57 r
140
1 I " 209 5.94

157 1

40,

22 1990
T 28

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TAHOE SLIPFENCE. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

1.5
38 DETAIL A
SCALE1:4
DIMENSIONS ARE IN INCHES NAME DATE ] - Tehoe Brodusts Group inc.
TOLERANCES: DRAWN | JRASER SL|pFENCE e,
FRACTIONAL + -
ANGULAR: MACH+  BEND + | CHECKED
TWO PLACE DECIMAL  + ENG APPR.
THREE PLACE DECIMAL = MFG APPR. ST R | N G E R 92| 1
MATERIAL Q.A.
6061 ALUMINUM 1/8" WALL,
POWDER COATED BLACK COMMENTS:
NEXT ASSY | USED ON FINISH 2604 SUPER DURABLE
POWDER COATING SIZE [DWG. NO. REV.
A| TSF-6FT-RES-VERT-SPEC
APPLICATION DO NOT SCALE DRAWING SCAETTS [WEGHT T




5
<\<\

Tahoe-Products p-lnc.

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL +

ANGULAR: MACHt  BEND +
TWO PLACE DECIMAL  +
THREE PLACE DECIMAL =

DRAWING IS THE SOLE PROPERTY OF

MATERIAL
72" X 5/8"' X 5.58" WOOD

TAHOE SLIPFENCE. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF

NEXT ASSY | USED ON

FINISH

TAHOE SLIPFENCE IS PROHIBITED.

APPLICATION

DO NOT SCALE DRAWING

NAME DATE . Oakville, ON
e | oTRISER. SLIPFENCE)| ;==
CHECKED
ENG APPR.
FRAFFE FULL BOARD, 72"
Q.A. 4
COMMENTS:

SIZE

A TSP 4FT-RES-VERT-SPEC

SCALE:1:10 |WEIGHT:

[sHeT 4 OF 11




2.750

[

.625

16

72
1829]

/ﬂ\//
//\ /|
v

=

Tahoe-Products Ire-

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TAHOE SLIPFENCE. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

DIMENSIONS ARE IN INCHES
TOLERANCES:

FRACTIONAL +

ANGULAR: MACHt  BEND +
TWO PLACE DECIMAL  +
THREE PLACE DECIMAL =

MATERIAL
72" X 5/8" X 2.75" WOOD PICKETS

NEXT ASSY | USED ON

FINISH

APPLICATION

DO NOT SCALE DRAWING

NAME DATE ~ Oalvile, ON
oo | TS SLIPFENCE] ==
CHECKED
ENG APPR.
MFG APPR. BOARD CUT 72”
QA. ’
COMMENTS:

SIZE

A TSP 4FT-RES-VERT-SPEC

SCALE:1:10 |WEIGHT:

[sHeeT 5 OF 11




1.875

125

250

Tl 48] T 1250
197 197 o 32
5 s -
vart ! *
62]
o |
125} 125 | | 25
3] 3]
- 250

~ [s]

866
22|

1 16

542 1.417
14] 7] [ [36]
354
9l |
\

.386

10

DIE # AH-73733, DWG # F1446
QV004, ALLOY 6061-T6
CUS CODE: F1446

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN TH

DRAWING IS THE SOLE PROPERTY OF
TAHOE SLIPFENCE. ANY REPRODUCTION

IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

IS

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL +
ANGULAR: MACHt  BEND +
TWO PLACE DECIMAL  +
THREE PLACE DECIMAL =

NAME

Tahoe Products Group Inc.

DATE Oakville, ON

DRAWN

TRASER
DESIGN INC.

SLIPFENCE

Phone: 1-866-336-2340
VWWV.SLIPFENCE.COM

CHECKED

ENG APPR.

MFG APPR.

U-BRACKET

MATERIAL
ALUMINUM 1/8" WALL, POWDER
COATED BLACK

QA.

COMMENTS:

NEXT ASSY

useboN | ™

ISH
POWDER COAT BLACK

APPLICATION

DO NOT SCALE DRAWING

SIZE

A TSP 4FT-RES-VERT-SPEC

REV.

SCALEN2 | WEIGHT: [sHEET 6 OF 11




373"
9]

|

133"

Drill Point #3

3]

#2 Drive

#10-16 Thread

5/8"
[16]
|
190"
5]
!
| 1/ " ——

6]

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL +

ANGULAR: MACHt  BEND +

TWO PLACE DECIMAL  +
THREE PLACE DECIMAL =

DRAWING IS THE SOLE PROPERTY OF

MATERIAL
410 STAINLESS STEEL

TAHOE SLIPFENCE. ANY REPRODUCTION

IN PART OR AS A WHOLE WITHOUT NEXT ASSY | USED ON

THE WRITTEN PERMISSION OF

FINISH
COATED BLACK

TAHOE SLIPFENCE IS PROHIBITED.

APPLICATION

DO NOT SCALE DRAWING

NAME DATE N Tahoe F'l:d\l;licles Group Inc.
e | GBS SLIPFENCE]| /s,
CHECKED
ENG APPR. #10 x 5/8" Self-Driling
MFG APPR. Screws / #2 Phillips / Pan
Q. Head / 410 Stainless Steel
COMMENTS:

A TSF6FT-RES-VERT-SPEC |
SCALE#4:1 | WEIGHT: [shEeT 7 oF 11




.322 .089 3/4"
(8] 2] [19]

|
i

.164"
4]
#2 Drive .
#8-11 Screw Size
DIMENSIONS ARE IN INCHES NAME DATE -l TR e o "
TOLERANCES: DRAWN | oTRASER SLIPFENCE VO SUIPFENGE GOM
FRACTIONAL * -
ANGULAR: MACH+  BEND + | CHECKED N
TWO PLACE DECIMAL ~ + ENG APPR. #8 x 3/4" Deep Thread Wood
PROPRIETARY AND CONFIDENTIAL THREE PLACE DECIMAL = MFG APPR. Screws / #2 Phillips / Pan Head
THE INFORMATION CONTAINED IN THIS MATERIAL QA / Type 17 Pt / 410 Stainless Steel
DRAWING IS THE SOLE PROPERTY OF 410 STAINLESS STEEL COMMENTS:
TAHOE SLIPFENCE. ANY REPRODUCTION s
INPART OR AS A WHOLE WITHOUT NEXT ASSY | USED ON BLACK MAGNI SIZE | DWG. NO. REV.
THE WRITTEN PERMISSION OF _ - - -
TAHOE SLPFENCE IS PROHIBITED. APPLICATION DO NOT SCALE DRAWING A| TSF-6FT-RES-VERT-SPEC
SCALE#4:1 | WEIGHT: [sHeeT 8 OF 11




187"

N

313"
8]

.

5/16"-18 Thread

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF

TAHOE SLIPFENCE. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF

NEXT ASSY | USED ON

COATED BLACK

TAHOE SLIPFENCE IS PROHIBITED.

APPLICATION

DO NOT SCALE DRAWING

5]
DIMENSIONS ARE IN INCHES NAME DATE -l TR e o "
TOLERANCES: DRAWN | JRASER SL|pFENCE VA SLIPFENCE QoM
FRACTIONAL * -
ANGULAR: MACH+  BEND + | CHECKED
TWO PLACE DECIMAL  + ENG APPR.
THREE PLACE DECIMAL 2 MFG APPR. 5/16-18 x 1 3/4" Carriage Bolts
MATERIAL QA. / 410 Stainless Steel

410 STAINLESS STEEL COMMENTS:

FINISH

SIZE

A TSP 4FT-RES-VERT-SPEC

REV.

SCALE:1:0.55 |WEIGHT: [skeeT 9 OF 11




500
13]

5/16"-18 Thread

281

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TAHOE SLIPFENCE. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

TWO PLACE DECIMAL  + ENG APPR.
THREE PLACE DECIMAL  + MFG APPR.
MATERIAL QA
410 STAINLESS STEEL COMMENTS:
FINISH
NEXT ASSY | USED ON COATED BLACK
APPLICATION DO NOT SCALE DRAWING

(7]
NAME DATE Tahoe Products Group Inc.
DIMENSIONS ARE IN INCHES - svite, o
TOLERANCES: DRAWN | JRASER SL|pFENCE VA SLIPFENCE QoM
FRACTIONAL * -
ANGULAR: MACH+  BEND + | CHECKED

5/16-18 Serrated Hex Flange
Locknuts / 410 Stainless Steel

SIZE

A TSP 4FT-RES-VERT-SPEC

REV.

SCALE:3:1

| weicHr: [sHeeT 10 OF 1




\\

NN
/

DETAIL C
SCALE1:8

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
TAHOE SLIPFENCE. ANY REPRODUCTION
IN PART OR AS A WHOLE WITHOUT
THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

NEXT ASSY | USED ON

NAME DATE Tahoe Products Group Inc.
DIMENSIONS ARE IN INCHES - SaKvie, ON
TOLERANCES: DRAWN | JRASER SL|pFENCE VA SLIPFENCE QoM
FRACTIONAL * -
ANGULAR: MACH+  BEND + | CHECKED
TWO PLACE DECIMAL  + ENG APPR.
THREE PLACE DECIMAL * G APPR. _
MATERIAL QA.
- COMMENTS:
FINISH

APPLICATION

DO NOT SCALE DRAWING

SIZE

A TSP 4FT-RES-VERT-SPEC

REV.

SCALE:1:192 |WEIGHT: |SHEET 1M OF 11




